2 (a) 632+256 (b) 441 +328 (¢ 810+ 107 (d)

() 356 + 462 () 593 +27'5

37-4 warps

-

#~
/7
£

{
\\

‘\L\\ .

[6:5+ 535

(9) 424+ 394 (h) 288 + 28]

3 How many spacewarps did BETA travel altogether?

4 (a) 228+55 (b) 707 + 84
(&) 854+99 () 75+ 676

() 46+336 (d) 8I-1+89
(9 37 +537 (h) 367 +103

5 On Planet Krypta each weight is increased by 8-5 kg.
Find each of these weights on Krypta.

(a)

(b)

My normal
weight is
80-3 kg.

My normal
weight is
75 kg

'-w |

6 () 75 +87+ 143

Decimals: tenths, written addition

(© (d)

My normal
weight is
847 kg.

(1) °

;

B 64+ 9% 58

My normal
weight is
689 kg.




